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• � iJfTq" c/i( w feli w ir�;,-rpr q F � 16 ffey n�-;r

21 t, 

Please make sure that the .printed pages in this 

question paper are 16 in number and it contains 

21 questions. 

• , �;,-'(pf � � � � Trq c/iT-5" � W � \JfR"-,'j®r:t37

c5 "!J&l-� rrrffeRJ,

The Code No. on the top of the qµestion paper 

should be written by the candidate on the front 

page of the answer-book. 
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• 'JifT'lT m";f W iJrR" /PU.?FI/ � '1iR R' � m";f W i/Pi/½

�zr fftcit

Def ore beginning to answer a question, its erial

Number must be written.

• Jrr(-J®chl � ef/q ? &7ff/ rp;rr I � ry fR¥1

Don't leave blan/c page/pages in your answer-boo/.

• �J®chl � i3IR/Rem cf57{- JP! !lftc #f frtiJ,fi1 Jm:

�2Jchd!jffl( ft � oJ/rr ffer&T � ry �I

Except answer-boo/c, no extra sheet iuill be given.

Write to the point and do not strike the w,itten

answer.

Candidates must write their Roll Number on the 

question paper. 

•�,"•,·cpq2/f J{�;ff cfiT i3rff # # rJ!I w � cfi7 fir Fc!i J{�"r{-f/3{/ 
;f'/ cT riff ffe; rrflm c6" i3q?lrft �. H14rff q efr{- ef! qlqf 
t<ffeba #IM df/�111 

Before answering the que�tion, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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mJ/lrtl Mr: 

(iJ "Reff mrf 1:HPl?/14 �, 

(ii) J{�7V5( q � 21 J{�rf /1

(iii) JT�rf ri&!r 1 ? 1-1 efclff ct � (i-xiv) ct@Rca
J{�rf rtfritR:trt !,

(iv) JT�rf � 2 # 11 ffc1i <JT/rf-&Rrt?lrJ./ch JT�"ry / ff-err

Jlrilch JT�ry 2 � cfiT ffe-1

( V) J{�ry "fW!T 12 "{{ 18 ffc1i ff!! Jrt (/2/ J{�ry ffe= ff-err

-Jlrilch J{�ry 3 efclff cfiT ffe-1

(vi) J{�rf tWlT 19 # 21 · ffc1i EfW iJrttJ2/ JT�"ry ffe= ffell"

Jlrilch J{�rf 5 #!if cfiT �"!

(vii)JT�� ? rl7TJl" wr # cfiT{" R0w ;:rtt ffe-1 rmrfir s
efclff � frJf/' ffFff JT�;f/ ? . ..mrffe0 ql{rf � M

7Tlff ,, rm J{�;f/?-« ��(!qi tr J{�ry cfwff.

t,

(viiiJ4J&l;-j&c:? ct ,sqef)1 ¢t •JfjWfl ;:rt! ft �"l!cfi �

� r1s1°1¢121 m?frlefl w m mr iifT r10m �"! 

General Instructions : 

1328 

. (i) All questions are compulsory .. 

(ii) There are 21 questions in all.

(iii) Question No. 1 is objective type questions.
It consists of fourteen (i�xiv) questions of l
mark each.
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(iv) Question numbers 2 to 11 are Very Short

Answer Type Questions and cany 2 marks

each.
(v) Question numbers 12 to 18 are Short

Answer Type Questions and cany 3 marks
each.

(vi) Question numbers 19 to 21 are Long
Answer Type Questions and carry 5 marks
each.

(vii) There is no overall choice. However,
internal choice is given in �ll three long
answer type questions an_d carry 5 marks
each. You have to attempt only one of the
given choice is such questions.

(viii) Use - of . calculators is not permitted. If
required, you may-use logarithmic tables.

1. (i) �-q;ur-� r � cf) '31cic-[-tll'4��-cf5T � tj%{
-

1328 

� wrr �' cnUT · -cfi &m � -11"4T -� ttcf � cfil

(a) 

(b) 

(c) 

(d) 

7t 

2 

7t 

4 

3n 

4 

7t 

1 
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A particle completes semicircular path of
radius r. The ratio of distance travelled and
-displacement of particle will be :

(a) 
7t 

2 

(b) 
7t 

4 

(c) 
31t 

4 

(d) 7t

�cf,Uf�tft?p["ij '1Rt1il1 �I �� 

� cf,Uf i 1

(a) . 
P- cf)Uf (b) roc:11

(c) a-cf,Uf (d) �

The following particles are moving with
same velocity. The particle with maximum
momentum is

( a( p-particlc

(c) a-particle

(b) proton

(d) neutron

P.T.O. 
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(iii) � � F ffl tR, � ch'T � V "ITT � %, ID
�Tm m11T .. f'( . . . . . 1 

If on applying force F, body move with 
velocity v, then power will be .......... . 

(a) 9?1°nl! 00

, 
(b) �-�

(c) �

(d) ffi

The product of . moment of inertia and 
angular acceleration is called : 

(a) Angular momentum

� Torque

(e} Force· 

(d) Work

(v) �� ·i � G1" M fGUs cnr � i :

(a) �B

(b) �

- (c) � G1" '?t � 9JJ:f

(d) � � G1" '?f � 9)ll

1 
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The weight of a body at the centre of the 
earth is : 
(a) Zero
(b) Infinite
(c) Slightly less than at the poles
(d) Slightly less than at the e-quator

� if � � coT l-Jl?fcfi 'ft!� : 1 

(a) �

(b) �@fl

(c) ��cf�l'1-�

(d) fcnffi-9lc

Which of the following is not unit of energy ?

(a) Joule

(b) 1 Calorie 

(c) Electron-volt

(d) Kilo-watt

(vii) � M ftJu:s coT 00 cfi1 TfT cp{ � �, m
· d<icfl �1fa61 � ......... "ITT 6-il��ft I 1 

When the momentum of body is increased 
by three times, its K.E becomes ....... �--_ 

], 
P.T.O. 
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(viii) � � wf � qfm: �:illjffl{ tj%{ WIT tITT �I
����cfil?t7T��?

B 

D 

�SUN A 

,c 

A planet is · revolving round the sun as 
shown in figure 

·D

�SUN
A 

C 

At '"'.hich point the velocity of .the planet ismaximum? 
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(ix) � G't fcITTfi � coT 4cll.!Fi � cnf lfR G!dl�lll 1
• • 

Oro tV
r;Wnte the value of Escape velocity of body 

from Earth's surface. 

(x) � Tfqlf c6 chl<01 � coT � � '3ffi �?flficl
cfil �'id'-! � coT w:Jffi Cp\fil � ? . 1

By virtue of which property does the free
surface of a liquid try to keep its area
minimum ? .b � 

Write down the formula for. the speed of 
· transverse waves in a stretched string.

(xii) � � iJ" tlclhi � c6 �ti/II { lif1t AB, BC -am
CA &ffi � � � �I � � ij � ffi �

. i ? r 
1 

VI 3v1
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a
2

b
2

If a physical quantity 1s P = -- and the 
c

2

percentage errors in_ the measurements of a, b

and care 1 %, 2% and 3% respectively, find the 
maximum percentage error in the measurement 
of physical quantity P.

3. � � � � � "B ��TA %1 � � � 1lIB �
�-� � �-� '3lJW ci!11�QI 2 
An object is moving with a .constant acceleration. 
Draw time-velocity and time displacement 
graphs for the object. 

4. '3ffi "B cflJT t11(-q4 % ? '3ffi � ��T � � ��T °Ufu
% .? 2 
What do yOu mean by. impulse ? Is impulse a 
scalar or a vector quantity. 

5. � !l�-;n c6 � � ·: 2 

(i) � M � trz ffi co{ � � � qft01141 �B
m, m cflJT � '3llcf�"lfcp i rco � fcl<,� if tr M ?

Give answers to the following questions 
(i) If the net force acting on a body be zero

then will the body remain necessarily in
'rest position. 

(ii) Write second law of motion in vector form. 

1328 P.T.O. 
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6. �g�c.b,cit '34�i? � mm � ? �tic.bl w Jqq!J1 �1 2

What is a Geo-stationary Satellite. Write its one

USC. 

7. � oo � � ufR qr ��ccflll f9{01 'g' c6 lfR if

4Rcl<l'1 c"fiT fqtjtj'11 r.fi1�l!I 2

Discuss the variation of acceleration due to
gravity 'g' on going above the surface ?[ earth.

8. �c:6°s cil<ric:b � m � ? � � fflcl cntl 2 

What is Second's Pendulum· ? 
length. 

Determine its 

✓ ft'idltil mfill if; ·r.il di:;fi'H01 {lf,;-i�1

Give two e�amples of isothermal proce-ss.

10. � � Uilqcf)I cFJr cilcG4 � ? M ��"R"ffi if Wf �
'3"1ll'1 c6T � · Rl�l!I - 2

What do you understand by capillarity ? Write
down the formula for the rise of liquid in a
capillary tu be. 

11. '� iflclcf>at �01ich 1 c6t qR1i11Sf1 � � l113fcf> ffi1�cu 2
Define "coefficient of thermal conductivity" and
write its unit. 

· 1328
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12. � cpUf � oo if � � if qf<ffil-11 en{ {ITT �I �
q-{ WR 9@T � � (F), cf)Uf c6 ��l-lH (m) � c6T
� (r) cfm cf)Uf c6T � (v) q-{ � qj«fT �I �
�-� cf>T wr F9�1li Fcr�ffl � "B � ���1 3
A particle is revolving in circular orbit in a
horizontal plan·e. The centripetal force (F) acting
on it depends upon the mass (m), radius (r) of
the circle and speed (v) of the particle. Obtain
the formula for the centripetal force on it by the
method of-dimensional analysis .

. 13. �l-11� ffl c6 � RrJ��I 3
Write· the Laws of Limiting-friction.

·--�ffl cfm JTTmft· � --� cflir- a1cq4 i ? -� ct>T w;

'3GIQ{01 ct)��' - . 3
What do you mean by conservative and non­

. conservative forces ? Give one example of each. ·
1�0fi<l @Fr mW'f .'fil· .f.f<l.f R!Rsl q1 .� M {!ff, '3<\liR"I

ID"U � ch)��, 3
Write the Law of . conservation· of angular
momentum. State it clearly by giving any one

example.
� 6cil"4 � � � � ? M 6cil"4 qftcid1 Cfi �

GJil cf '3il�d'1 � �� Rtf©�1 � rcfil � � i ? 3
1328 P.T .. O.
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What is adiabatic change ? Write the relation 
between pressure and volume of an ideal gas for 
an adiabatic change. What is the meaning of r.

3 

Write down the postulates of the Kinetic theory 
of gases. 

18. R l?!IJ'i..ll cf@ t1l--li�1 ITT<o "fl" R l?llJ'i..ll cfif C% �fllchl { �
2

cblc.ch{ �chl(rf � 1flTT �I �. Qcbl { �. �fllchl { � cfif
� � ITT<o cfi � U f � 1R l1 � � cfi

�cl.ll-il'i � cB1" � � cfj)�QI 8 -

From a uniform disc of radius R, a circular disc 
f d. R .· h o ra 1us - 1s cut out.· T e centre of the2 

circular cut is at R from the centre of the2 
original disc. Locate the centre of mass of the 
resulting flat body. 

19. � � � m � fqUs cB1" � 11m �, �

� � � � � o4'5ich � cfil�QI 5 · 
Find expression for kinetic energy, potential 
energy and total energy of oscillation of a body 
executing simple harmonic motion.

. \ 
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OR 
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'3-B.Pll½l cWf � � ctlcG4 � ? � � '3ffl � cfi �
� cfi)�q fc))- � Bll � � � >lcbl{ � fi11Rq1 
'3cGni mcfr �I 
What is meant by stationary wave ? Prove that 
in an open organ pipe, · both odd and even 
harmonics are produced.· 

20. 1@1q >l{-11{ j01icb (a), � WR j01icb (P) cim '3-11qct1
_q-ffi j01icfi (y) � �.-£l � cfi)�q1 5 
Establish relation between coefficient of linear 
_expansion(a), ,coefficient of . superficial 

. expansion(P), and · coefficient of . volume 
expansion (y). 

� 

OR 

ci!<��l � :qirq- � Jffi � clft1 

State and prove Bernoulli's theorem. 
21. � m ��r A cf B M {il-1111,.:a{ � chi m

'3-lltini �'3TI � f1{<\tqct fcm � �' ill � cfi)�q 
qf{011J..tl cnr 4Rli1°1 s

R = ✓A2 + B2 + 2ABcos0
� A cf B ��r: oon A cf B 'c6 qR'-11°1 �cf�
� � 0 i1 

1328 P.T.O. 
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